
Hardwnre List

Kubota

Iustollation Instructions

Attach to plow mount por illustration. 'I'his mount will rnount to the lront bumper looalioil i-n the fiont. Use the i2 mm
bolts, Lock washors and Flat rvasher providc<l to secure to the {iont of your machine. 'l'here are arlclitioual holcs ir: the
l)ottom ponioil r:f the trxrunt that will allow you to drill tllough ancl use thc 3/8', x I-i/4', hox bolt, washers ancl nylock
nuls to secure lrorn the bottonr sidc up. 1'ighten all holts sccurely.

{1} Plow Mount Brackets
(8) 3/8" Flat Washers
(4) 12x35mm Hex Bolts {1.25 thread)
(4) 3/8" Nylock Nuts

11780

3/8xL%" Hex Bolts

12 mm Flat Washers
12'mrn Lock Washers

(4)

(4)
(4)

. .:;


